HKDSE MATHS

UNIT 4.1

Change of Subjects

Change of Subjects

1. If 1
P
2
A (_E‘I_)
P+qz
B. (_EL)
P‘qz
C. (2;‘1)
pq
D -2
pq
E -
P—4q
p .V
2. If mc—m, then v
A +—EE—
- Epetp
B, +—E—
mc—p’
C. + 2zc 3
mc —p
D. iJC‘_
M+ p
2.2
E e

/ 2
42_ 2
A. vb “ c
4’ -+ ¢
B. b
C 4gz—a!2+c
. b .
2y—a)’ - c
D. b
- §2v—a§2+c
. b .

—1 + —
4 1F d = 1 3[1 4ac

2a
A. 4d*d*.
B. -ad*.
C. ad*-d.
D. —ad’+d.
E. -ad*-d.

[1972-CE-MATHS B1-14]

[1977-CE-MATHS 2-10]

[SP-CE-MATHS 2-9]

, then ¢ =

[1978-CE-MATHS 2-17]

I x

. D.

E.

CIf x

L If o x o=

ab
= 2_b then a =

[1979-CE-MATHS 2-4]

L If PA+ K" = Q, then k=

1
Gr-1.

Pon
(Q) -1.

&1

1- (%)—".

1
- &y
[1979-CE-MATHS 2-25]

y+ -1z h
= , en n=
n+1
X—-y+tz
z
XxX+ty—-z

y—X—2z
X Tz
y—X—2
xX—-z
ytx-—z
x-z
[1980-CE-MATHS 2-7]

 =bxtay-c

a + by , then y =

ax + bx + ¢
a - bx
ax+bx +c
a— bx
ax + bx + ¢
a+ bx
ax + bx + ¢
a+ bx
ax — bx — ¢
a - bx
[1981-CE-MATHS 2-3]
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RLAON WYL UNIT 4.1

9. If H= K+

Change of Subjects

W and r >0, then r=

10.Ifx=l , then y =
=4 =
y
A, %E
z
B. —
Xz -z
c. =2
Xz
D Xz
 2x+z°
Xz
E. o
[1982-CE-MATHS 2-4]
1. If 107 = P then x =
l P-a
A. k(lO ).
B. long
1
C. log,P-a.
1
D. Z(long—a).

12.

1
% (log,, P + a).
[1982-CE-MATHS 2-5]

1 4
;G-
1 ¥

Z(y—A -d).
1 x
;(az—}j .

13.

15.

16.

1 4
D. Z(az—‘::—z).
1, 2
E. b(a '—'yz).
[1983-CE-MATHS 2-3]
If a- &Qul’ then y =
x =3y
a+ 2b
S TR
a—2b
B i+ et
a+ 2b
C -3arap*
3a + 4b
D. 2+ 2b
—3a + 4b
E. a—2_b X.
[1984-CE-MATHS 2-2]
ab 1
If a+ bk’ then b =
A~
ka
B. -1
ka
C. - i
Ka
D. —.
E a
*k-a
[1985-CE-MATHS 2-3]
If a—\/bz*‘c2 =d, then ¢ =
A, d-a+b.
B. a-d-b.
C. :\d2-a+p.
D. i\/az—dz—bz.
E. +\(a-dP-p.
[1985-CE-MATHS 2-5]
+
If l—x—‘z_ =a (a#0), then y=
y—-x
A, x.
B. 2(a-2).
C. Z@-1.
D. 22-a).
E. 2(1-a).

[1986-CE-MATHS 2-3]
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LLON VYO UNIT 4.1

17.

18.

19.

20.

If

If

YT

Change of Subjects

b+ 3cd B
T b-3cd’ MM €T

¢l 2ls

o

a—1
od -
a+1
a-1
b(a-1
3d(a+1)°

o

:

[1987-CE-MATHS 2-3]

1ty

, then y ="
-y y

=
|
—

._
+ =
=

o
+ 1
—

= =
|

|
—

—_— =
-

—
+11
e

[1988-CE-MATHS 2-2]

then b=

[1990-CE-MATHS 2-3]

[1991-CE-MATHS 2-4]

21.

22.

23.

24.

If

s =

S

s

e

1+x°

[1992-CE-MATHS 2-2]

[2a + (n—1)d], then d=

[1993-CE-MATHS 2-2]

[1994-CE-MATHS 2-2]

[1995-CE-MATHS 2-2]

Past Paper Review (Multiple Choice)

P. 55



RLON VYL SN UNIT 4.1

Change of Subjects

25. If A =2m?+ 2nrh, then h=

A, A-r.
A
B. —.
r
A
C. 2ar
A
D. T 2
A
E. — -2/
27xr
[1996-CE-MATHS 2-4]
a+x c
26. If bt x4 (c #d), then x =
c a
A. 77 b
a-b
B. c-d’
b-a
C. c—d-
D. ad — bc
- c—d
bc — ad
E. c—d
[1997-CE-MATHS 2-3]
27 1 x = LE=D e oo
3z
A 3
* 3x-y
-3
B. ™y
3y
C. x -y
3y
D. x -y
yV
[1998-CE-MATHS 2-1]
1+5
28. If a = -5 then b =
A a-—1
: 2
a-1
B. %a
C. a+1
a-1
a-1
D. paarE
1 -—a
E. paEp

[1999-CE-MATHS 2-3]

29.

30.

31.

32.

If 4= }21(a+b), then b =

A. 24 -ah.
2
}‘I(A—a).
24 —a
C. -
24
D. a- e
24
E. 7 -a
[2000-CE-MATHS 2-1]
If a=2 L th b=
a=2-717p then
1l —a
A. Pt
a—1
B. a0
a+ 1
C. PR
-a -3
D. PR
A
a
[2001-CE-MATHS 2-1]
X
If T +x 1-a° then x =
A a.
2a
l1-a
a
C. T+ 2a"
a
D. - 2a
[2002-CE-MATHS 2-1]
b-1
If a h_2° then b =
2a -1
A —
a-1
2a -1
B. 711
1
C. P
1
D. 2 +1

[2003-CE-MATHS 2-3]
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HKDSE MATHS RN

Change of Subjects

33, If x = L=

2 then y =
A lgxlr'
B. 2x2f1'
C. 1£xzx_
. 21

[2004-CE-MATHS 2-2]

34, If a=1-2b, then b=

A a-1
2

B. “;1.

C. —12—a

D. 1;“.

[2005-CE-MATHS 2-2]

35. If 2x—5y =7, then y =

A
B. 2xi~7
b, 22l

[2006-CE-MATHS 2-2]

36. If m =7-3n, then n =

A 7T —m
) 3
7T+ m
B. 3 -
3
C. T
3
D. 7T+m
[2008-CE-MATHS 2-2]
37. If P= %T—Z, then 7=
A §+ 2R
RP + 2
B. 7
C R(§+2)
R(P+2)
D. 7 .

[2009-CE-MATHS 2-2]

3a
38. If x = PETS then a =

39.

[2010-CE-MATHS 2-1]

[2011-CE-MATHS 2-2]

Manipulation of Formula

40. If x> +y* =m and x—y = n, then xy =

41.

If

HE oW R

1

E(m -n).
m—n*.

1
E(nz—m) .

2
n -

NS le

[1977-CE-MATHS 2-16]

X+x+1=4, then =*—x+1=

[SP-CE-MATHS 2-1]
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HKDSE MATHS QRVVia%] Change of Subjects

- 28 47. If the value of y* + 3y + 7 is 2, what is the
42. If 2a = 3b, then Yok value of 2)2 + 6y — 32
9
A. g A. -13
3 B. -7
B. 7 C. 7
C. 1. D. 14
D 2 E. it cannot be found from the information
T3 given
8 [1980-CE-MATHS 2-29]
E. 27 -
[SP-CE-MATHS 2-3]
1
48.If£—l=‘z', and x=%,z=%, then
43. If x+y=a and xy = b, then (x—y)’ = )= Y
A. d -4b. '
B. o -2b. A -1
C. &-b. B. 1.
D. o +2b. C. 5.
E. &+, D. 6.
[SP-CE-MATHS 2-11] 1
[1987-CE-MATHS 2-2]
4. If x+y = 2a and x —y = 2b, then
X+ y2 -
A, dab. 49. If ¥* +y* =5 and x+y =3, then x—-y =
B. & -b.
C. 2@ -bY. g 11'
D. 2(d®+ bY). -
E. 4+ b). C. lor-1.
[1978-CE-MATHS 2-18] D. lor-5.
E. -1to5.

s [1987-CE-MATHS 2-38]
45. If 4p = 9q, then —;L =

. . + +y
A s0. 1f 22— 5 fing 2L
B 4 2x+y x+ 2y
e A 2
9 .
C. Z B. 3
9V 1
D (Z) : 2
4\ 1
e (3). D. 3
[1980-CE-MATHS 2-3] 6
E. =
7
1 1 [1989-CE-MATHS 2-40]
46. If —=a+b and —= =a—-b, then x+y =
X y
2 232 azb _
A. 7 51. If 9¢° - b = 0 and ab < 0, thena+b—
2 52
B. & =b ) A, 2.
a 1
2 32 4
C. a ;b . B. 2
2a C. 0.
D. - D. &
-2b 2
E. =0 E. 2.
[1980-CE-MATHS 2-6] [2000-CE-MATHS 2-34]
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Change of Subjects

LLON YL N UNIT 4.1

52, If %;—_3%=§
NS
5 2.
¢ b
o
6

53, If 2x =3y = 4z,
A L
.5
1 .
B. 3
5
C. 3
7
D. 5

HKDSE Problems

54. If 5-3m = 2n,
A. n.
2n — 5
-3 -
-2n+ 5
-3 -
—2n + 15
—3

5
=3
= =
i:
<~

[2001-CE-MATHS 2-28]

+y-—
then)f—‘u=
x-ytz

[2002-CE-MATHS 2-13]

then m =

[SP-DSE-MATHS 2-2)

55. If 3a+1 = 3(b-2), then b=

A, a+t+1.
B. a+3.

7
C. a+3.
D. a—%.

[PP-DSE-MATHS 2-2]

L If

S

Al

B.

y-1 _y+1

U

QU 00
+ |1
o K

+ +
CHEN

o 0

o0
+ 1
QUK

U

[}

= E. then x =
x

=

E

2

2
I'Co +|Q
©w ™

]

[
®

)

™

, then y=

[2013-DSE-MATHS 2-2]

[2016-DSE-MATHS 2-2]

, then a=
a

[2017-DSE-MATHS 2-3]

[2018-DSE-MATHS 2-2]
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Past Paper Review (Multiple Choice)

LLON VYL RN UNT 4.1 Change of Subjects
60. Ifh =3 ——— thenk =
k+4
4h-7
A. Fry
4h-17
B. h
4h-7
C. 3+h
4h~17
3+h
[2019-DSE-MATHS 2-5]
61. Ifa(a + b) = 2(b — a), then b =
A a’+a
2+a
2_
B. a 2a
2+a
a’+2a
C. 2+a
a’-a
24a
[2020-DSE-MATHS 2-2]
P.59.1



HKDSE MATHS RV ¥

Basic Concepts

1.

Identities

Which of the following is an identity / are
identities ?

1) E+DE-1)=x*+1
2 F*-2x+1=0
B) (x-27=(@2-x)

(1) only
(2) only
(3) only
(1) and (2) only
(1) and (3) only

SE RN

[1986-CE-MATHS 2-4]

Which of the following is an identity / are
identities ?

1 1 —x
1 T-1==3
(2) (ax+b)(x-b) = ax* - b*
(B) 2x*-3%x+1=0

(1) only
(2) only
(3) only
(1) and (2) only
(1), (2) and (3)

HEOR P

[1988-CE-MATHS 2-7]

Which of the following is / are an identity /
identities ?

(1) x+2)x-2) =>4
(2) x+2)(x-2)=10
(B) (x+2P%=x*+8

(1) only
(2) only
(3) only
(1) and (3) only
(2) and (3) only

SECNON

[1994-CE-MATHS 2-7]

Which of the following is/are an identity/
identities ?

(1) =4
(2) (x+3)7 =4’ + 12x+ 9
B) @+l =x+1

(1) only
(2) only
(3) only
(1) and (2) only
(2) and (3) only

HEOF P

[1997-CE-MATHS 2-7]

5. Which of the following is an identity / are

identities ?

1) 2+22x+1=0

2 P+2x+1=@+1)7
@B *+1>0

A. (1) only

B. (2) only

C. (3) only

D. (1) and (3) only

E. (2) and (3) only

[2001-CE-MATHS 2-11]

6. Which of the following is an identity / are
identities ?

(1) ¥*-4=0
2) ¥-4=x-2)7
3) ¥*-4=(x+2)(x-2)

(2) only
(3) only
(1) and (2) only
(1) and (3) only

TOwr

[2006-CE-MATHS 2-6]

Determination of Values

7. 3x* = 3x = 3(x+a)’+ b is an identity in x.
What are the values of the constants a and b?

A. a=1, b=0

1 3
B. a = 2 ) b - 4
1 3
C a 2° b__4
1 3
D. a= _2 5 b= 4
1 3
E. a = _2 s b = _4
[1981-CE-MATHS 2-32]
| entity 2 4 AL _a
8. Given the identity 7 + G-1)7 T a7
bx -2
= (xt_ 1y find the values of the constants a
and b.
A a=1, b=3
B. a=3, b=1
C. a=1, b=-3
D. a=3, b=-1
E. a=-1, b=3

[1986-CE-MATHS 2-5]

Past Paper Review (Multiple Choice)
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GLON YL RN UNIT 4.2

9.

10.

11.

12.

13.

14.

Identities

If p(®-x)+ q(x*+x) = 4x* + 8, find p and
q.

A. p=4, g=28

B. p=-8, g=4

C. p=-2, q=6

D. p=2, ¢qg=6

E. p=6, g=-2

[1891-CE-MATHS 2-36]

If 3x>+ax -5 = (bx-1)2-x) - 3, then

A a=-5, b=-3.
B. a=-5, b=3.
C. a=-3, b=-5.
D. a=5, b=-3.
E. a=3, b=35.

[1993-CE-MATHS 2-5]

If 3 +6x+1=3x+b)?+c, then ¢ =

A. -8.
B. -2.
C. 0
1
D. 3
E. 1
[1995-CE-MATHS 2-10]
2 a b
Ifx2_15x+l+x_l,ﬁndaandb.
A. a=2, b=
B. a=1, b=2
C. a=1, b=
D. a=1, b=-1
E. a=-1, b=1

[1996-CE-MATHS 2-8]

If x+3-@+Dx-3) =Px+1)+ 0,
find P and Q.

Il

=HO AW
e Tia B -Bia v
oo#v.zllww
QORI
~ oo

il

[1998-CE-MATHS 2-5]

If Bx—1)(x—a) = 3x* + bx — 2, then

a=2, b=-1.
a=2, b=-7.
a=-2, b=25.
a=-2, b=-5.
a=-2, b=-7.

mEORP

[1999-CE-MATHS 2-6]

15.

16.

17.

18.

19.

20.

21.

If 32 +ax+7 = 3(x-2)>+ b, then

A. a=-12, b=-5.
B. a=-12, b=1.
C. a=-4, b=3.
D. a=0, b=-5.
E. a=0, b=19.

[2000-CE-MATHS 2-10]

If (x+1)?+ Px+1)=2x*>+Q, then

P=-2, 0=-1.
P=-2, 0=1.
P=2, 0
P=2, 0

Al e

1.

Il

[2002-CE-MATHS 2-6]

If 2x+3)x—a) = 2x% + b(x+ 1), then
A. a=-3 and b=0.

- 11
B. a= 3 and b= 3

1 7
C. a= 3 and b= 3
D. a=3 and b=-9

[2003-CE-MATHS 2-6]

If a(2x-x%) + b(2x* —-x) = -5 + 4x, then a
A -1
B. 1.
C. -2.
D. 2.

[2004-CE-MATHS 2-10]

If x>+ 2ax+8 = (x+a)*+ b, then b=

A. 8.
B. & +38.
C. &-8.
D. 8-4°.
[2005-CE-MATHS 2-10]
If a and b are constants such that
a(x*-x) + b(x*+x) = 2x* + 4x, then a =
A, -1.
B. 1.
C. 2.
D. 3.

[2009-CE-MATHS 2-5]

If A and Kk are constants such that

hx + (x—3)* = x> + 10x + k, then

A. h=10 and k= -9.
B. =10 and k=09.
C. h=16 and k= -9.
D. A=16 and k=09.

[2010-CE-MATHS 2-5]

Past Paper Review (Multiple Choice)
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LLON VYL EE UNIT 4.2

Identities

HKDSE Problems

22. Let p and ¢ be constants. If x* + p(x+5)+ g
= (x-2)(x+5), then g =

-25.
-10.
3
5.

sFOwp

[SP-DSE-MATHS 2-4]

23. Let m and n be constants. If m(x —3)> +
n(x+1)* = x> - 38x + 41, then m =

A, 4.
B. -I1.
C. 3.
D. 5.

[PP-DSE-MATHS 2-4]

24. If p and g are constants such that x*

(x+2)(x+g)+ 10, then p =

+p =

A. 4.
B. -2.
C. 6.
D. 10.

[2012-DSE-MATHS 2-3]

25. If a, b and ¢ are non-zero constants such that
x(x+3a)+a =x*+20bx+c), then a:b:c =

2

W N -

23
03
12
4

COR»
AN W o

[2013-DSE-MATHS 2-8]

26. If p and ¢ are constants such that
px(x—1) + x> = gx(x~-2) + 4x, then p =

TOowp
B LN

[2014-DSE-MATHS 2-3]

27. If m and n are constants such that
X +mx+n=@x+4)(x-m)+ 6, then n=

A -8
B. -2
C. 2
D. 6

[2015-DSE-MATHS 2-5]

28. If m and n are constants such that
47 + mx+1) + 28 = mx(x +3) + n(x —4),

then n =
A. 8.
B. -7.
C. 4.
D. 16.

[2017-DSE-MATHS 2-8]

29. If @ and # are constants such that

(x—8)x+a}—-6=(x—9)F +p. thenf =
A 26
B. -—-10
C. -7
D. -6
[2019-DSE-MATHS 2-4]

20. If & and % are constants such that
x+hx+6)=kx+4)  +k thenk =

A 28
B. -—16
C. —%
D. 2

[2020-DSE-MATHS 2-7]

Past Paper Review (Multiple Choice)
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LLON YO UNIT 4.3

Operations on Polynomials

Expansion

Lo (=17 - (x+1)7 =

A, 2.
B. -2
C. 4x.
D. —4x.
E. 2(:%+1)
[1977-CE-MATHS 2-2]
1 1
2. (x—;)2 - (x+ ;)2 -
A, 4.
B. 0.
C. 4.
2
D. -2
E. 2067+ 3)
[SP-CE-MATHS 2-5]
3. (w+xP)? =
A, %+t
B. X2+ x*.
C. —x*+27°+x.
D. —x*+ 23 —x*.
E. x2-27+x*.

[SP-CE-MATHS A2-33]

4. Simplify (2-Bx+ )2 +3x+1).
A ¥+

B. x*-x*+1

C. xX*+x*+1

D. x* -3 -2/3x-1

E

x4*\/§x3—2\/§x2+\[3_x+1

[1993-CE-MATHS 2-3]

5. (2% -3x+1)2-3x) =

A, 6 -5 -3x+ 2.
B. 6 - 13 - 9%x-2.
C. -6+ 13x2-9x+2.
D. -6 -5 -3x+2.
E. -6 -5 -9x+2.
[2001-CE-MATHS 2-2]

6. 2x-3)(*+3x-2) =

A 20 +3x% +5x-6.
B. 23 +3x2+5x+6.
C. 2 +3x2-13x-6.
D. 2 +3x>-13x+6.
[2005-CE-MATHS 2-4]

10.

Gtx)(y+y+y) =
A. 6xy.

B. 2x+ 3y.

C. A’

D. 6x%°.

[2007-CE-MATHS 2-3]

2 -3x+1)-2(3+2x-1) =

A, x-1.

B. -7x+3.

C. 4’ +x-1.
D. 4x*-7x+3.

[2008-CE-MATHS 2-4]

(Bx—5)(2x*+5x-3) =

A. 6 + 5% —34x + 15.
B. 6x° —5x*+ 34x + 15.
C. 6x°+25x*+ 16x+ 15.
D. 6x° —25x — 16x + 15.
[2009-CE-MATHS 2-4]

x=-2)(x+2y-2) =

X2+ 2%+ 2x + dy.
X+ 27 - 2+ 4y,
xP— 4P+ e+ 4y,
x? -4 - 2x + 4y,
[2011-CE-MATHS 2-3]

CPOR P

Factorisation

11.

12.

If *+5x-6=@x-a)x-p) and a > p,
then o =

-1.

SRl
A W N -

[SP-CE-MATHS 2-4]

Which one of the following is a factor of
8a’ + b*?

2a - b
4a* + b’
4a* - 2ab + b?

4a* + 2ab + b?
4 + 4ab + b

H#HEOEP

[SP-CE-MATHS A2-34]

Past Paper Review (Multiple Choice)
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LLON VYR UNIT 4.3

13.

14.

15.

16.

17.

Operations on Polynomials

(atb+c)a-b-c).
(a+b-c)a-b-c).
(atb-c)a-b+c).

[1978-CE-MATHS 2-15]

2ab — a* - b =
A. (a-b).

B. (-a-b).
C. (-a+b).
D. —(a+b).
E. —(a-b).

[1980-CE-MATHS 2-1]

Which of the following expressions cannot be
factorized ?

"A. X - 125
B. 4’ -9
C. X+ 125
D. 4+ 9’
E. 32+ 6xy + 3)°
[1988-CE-MATHS 2-33]
@+ 8a3 =

[1990-CE-MATHS 2-7]

Which of the following is a factor of
4(a+ b)* — 9(a-b)*?

A. Sb-a

B. Sa+b

C. -a-b>

D. 13b - 5a

E. 13a-5b

[1992-CE-MATHS 2-6]

18.

19.

20.

21.

22.

23.

In factorizing the expression a* + ab® + b*,
we find that

(@® - b?) is a factor.
(@ +b?) is a factor.
(@ —ab-b? is a factor.
(a*-ab+b* is a factor.
it cannot be factorized.
[1993-CE-MATHS 2-39]

"EORP

Factorize a* —2ab+ b* —a+ b.

(a-b)a-b-1)
(a-b)a-b+1)
(a-b)a+tb-1)
(a+b)a-b+1)
(a-b-1)

HE PP

[1994-CE-MATHS 2-35]

Factorize 2d""' - 74" — 30a™" .

(@ -6)2a+5)
d"(a+ 6)(2a-5)
d'(a—-6)(2a+5)
aYa+ 6)(2a-5)
a"Y(a-6)2a+5)

SRRl S

[1995-CE-MATHS 2-36]

Which of the following expressions has/have
b—c as a factor?

(1) ab - ac
) a(b-c)-b+c
(3) a(b-c)-b-c

(1) only

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), (2) and (3)

mearEe

[1996-CE-MATHS 2-6]

9 —a® - b*+2ab =

B-a-b)3-a+b).
(B-a-b)3+a-b).
B-a-b)3+a+b).
G-a+b)3+a-b).
B-a+b)3+a+b).

HEORP

[1997-CE-MATHS 2-4]

Factorize x* —)* + 2x+ 1.

(x+y+DEx+y-1)
(x+y+DEx-y+1)
(xty-Dx-y+1)
x+ty-Dx-y-1)
(x-y+Dx-y-1)

HEORP

[1998-CE-MATHS 2-8]
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Operations on Polynomials

24, -y -x+y=
x-»x-y-1).
x-»x+y-1).
x=»x+y+1).
x+y)x-y-1).
(x+y)x-y+1).

=HEOFEPF %

[1999-CE-MATHS 2-2]

25. Factorize x> —x —xy + y.

A, (x-y)x-1)
B. (x-y)x+1)
C. (x+ty)x-1)
D. (I1-x)(x+y)
E. (1+x)(y-x)

[2000-CE-MATHS 2-2]

26. Which of the following is a
2a-b)} - da + b*?

A. a-3b

B. a-2b

C. at+b

D. a+3b

E. 3a-b -

[2001-CE-MATHS 2-22]
27. X - Z—Z =
X

A (x+%)(x2—6+%).
B. (x+%)(x2—3+x%).
C. (x- %)(x2+6+ x%).

3 9
D. (x- ;)(x2+ 3+ 3).
[2003-CE-MATHS 2-39]

28. pr+ qr—ps—gs =

A. (ptg)r-s).
B. (p+q)s-n).
C. (p-9r-s).
D. (p-g)s-1).
[2006-CE-MATHS 2-4]

29. Which of the following must have x +y as a

factor ?

(1) -
2) ¥+

(B) xxt+ty)-x-y
(1) only

(2) only ‘
(1) and (3) only
(2) and (3) only

TOow»

[2008-CE-MATHS 2-5]

factor of

30. ab + ac — a* — be =

A.

B
C.
D

(a-b)b+c).
(a-b)(c—-a)-
(a-c)b+c).
(a+b)(c—a).

HKDSE Problems

31.

32.

33.

34.

35.

36.

A -b+2-1=

A. (@a-b-1)at+tb-1).
B. (@a-b-1)a+h+1).
C. (a-b+1)(atb-1).
D. (a-b+1)a-b-1).
X (2x+x) =

A, 3t

B. 2x°.

C. 3x°.

D. 2x5.
PP-¢d-p-q=

A (pte)p-q-1).
B. (pte(ptg-1).
C. (p-9(p-gt1l).
D. (p-q9ptqg-1).

(@x+y)P - (4x-y)* =

A.
B.
C.
D.

0.
27,
8xy .
16xy .

[2010-CE-MATHS 2-4]

[SP-DSE-MATHS 2-3]

[PP-DSE-MATHS 2-1]

[PP-DSE-MATHS 2-3]

[2012-DSE-MATHS 2-2]

ht =k + hm —km—hn + kn =

A.
B.
C.
D.

(h+ k(£ -m+n).
(h+k)£+m—n).
(h=k)(¢ —m+n).
(h—k)l+m—n).

W -V —5u+ 5v =

A.
B.
C.
D.

(u-v)ut+v-5).
(u—v)u+v+5).
(u+v(u-v-5).
(utv)(u-v+5).

[2013-DSE-MATHS 2-3]

[2014-DSE-MATHS 2-2]
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37. (x+ DEP+x+1) =

A xX+1.

B. (x+1)>.

C. X*+x*+x+1.
D. X*+2%+2x+1.

[2015-DSE-MATHS 2-1]

38. 16 - 2x-3y)* =

A, (4-2x-3y)(4+2x+3y).

B. (4-2x-3y)4+2x-3y).

C. 4-2x+3y)d+2x+3y).

D. (4-2x+3y)4+2x-3y).
[2016-DSE-MATHS 2-3]

39. 3m* - 5mn+ 2+ m-n =

A. (m-n)(Bm-2n+1).
B. m-n)(Bm+2n+1).
C. (m+n)(Bm-2n-1).
D. m+n)(Bm+2n-1).
[2017-DSE-MATHS 2-1]
40. h* —6h —4k*> — 12k =

A, (h—=2k)(h—2k +6)
B. (h—2k)(h+2k+6)
C. (h+2k)(h—2k —6)
D. (h+2k)(h+2k-06)
[2018-DSE-MATHS 2-3]
41. (a - b)(a* +ab —b?) =

A. (a—-b)

B. a®-b3

C. a®—2ab*+b®

D. a®*—2a%b+ 2ap? + b®

[2019-DSE-MATHS 2-1]

42. (3a + 2b)(4a - 5b) — a(6a + 4b) =
A. (3a+ 2b)(2a —5b)
B. {(3a+ 2b)(6a —5b)
C. (3a-—2b)(2a +5b)
D. (3a-2b)(6a +5b)

[2020-DSE-MATHS 2-4]
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Remainder Theorem 6. P(x) is a polynomial. When P(x) is divided
by (5x-2), the remainder is R. When P(x) is
divided by (2 —5x), then the remainder is

1. What is the remainder if @x® — x> + x + 7 is

divided by x+1? A. R.
A a+s B. -R.
B. a+7 C. %R.
C. 5-a )
D. 7-a D. 5
E. 9-a )
[SP-CE-MATHS A2-39] E. -5

[1994-CE-MATHS 2-37]

2. When f{x) is divided by (2x + 1), the
remainder is

7. Find the remainder when x* — x> + 1 s
A, f(2). A divided by 2x+1.
B. f{(1).
A, -11
C. f-1). 5
1 B. 3
D f(z). 8
7
1 C. 3
E. f-3). 8
9
[1983-CE-MATHS 2-6] D. g
E. §.
3. When the expression x> + px + ¢ is divided ' [1996-CE-MATHS 2-5]
by x+ 1, the remainder is 4. Find the value
of 2p—2q+ 1. )
8. Let flx) = 2x—-1(x+1)+ 2x + 1. Find the
A 3 remainder when f(x) is divided by 2x+1.
B. -5 A i
C. -7 ’ _1
D. -9 B. _5
E. It cannot be determined. C. 0
[1987-CE-MATHS 2-8] D. 1
E. 2
4. Let f(x) = ax? + bx + c. When f{x) is divided [2001-CE-MATHS 2-3]

by (x—1), the remainder is 10. When f{x) is
divided by (x+ 1), the remainder is 6. Find

the value of b. 9. The remainder when x*> + ax + b is divided

by x+ 2 is 4. The remainder when

A. 4 ax® + bx + 1 is divided by x—-2 is 9. The
B. -2 value of a is
C. 2 A -3,
D. 4 B. -1.
E. It cannot be found. Cc 1.

[1988-CE-MATHS 2-5] D. 3.

[2002-CE-MATHS 2-38]
5. Let flx) = ax* -5 and g(x) = 27x° — 18x + 4.

If both expressions leave the same remainder 10. Let %k be a positive integer. When
when divided by 3x+ 1, then a = 2 4 jr + k is divided by x + 1, the
A, -74. remainder is
B. 0. A, 1.
C. 36. B. 1.
D. 76. C. 2k-1.
E. 126. D. 2k+1.

[1989-CE-MATHS 2-6] [2005-CE-MATHS 2-40]
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11.

12.

Remainder & Factor Theorems

Let © be a non-zero constant. When
X+ k? + 2kx + 3k is divided by x+k, the
remainder is k. Find k.

A, -1
B. 1
C. -2
D. 2

[2006-CE-MATHS 2-40]

When 2009 + x2008 4 (2007 o o
by x+ 1, the remainder is

is divided

A, -1.
B. 0.

C. 1.

D. 2009.

[2009-CE-MATHS 2-41]

Factor Theorem

13.

14.

15.

If fix) = ax*+ bx + ¢ and t(:53-):0, then

which of the following is a factor of ax® + bx
+c?

A, x+3
B. 3x+5
C. 3x-5
D. 5x+3
E. 5x-3
[1978-CE-MATHS A2-49]
If x+2 is a factor of x* + ax + b, then
2a-b+3 =
A 7.
B. -1.
C. 0.
D. 1.
E. 7.

[1984-CE-MATHS 2-4]

Let @ and b be constants. If 3x° — ax’ + 5x —
3b is divisible by x+3, then 3a + b =?

-32
=22
22
32
it cannot be determined
[1985-CE-MATHS 2-7]

mEEORP>

16.

17.

18.

19.

20.

21.

Let F(x) = 2x* + 3x* — 11x - 6. Given that
F(2) = 0 and F(-3) = 0, then F(x) can be
factorized as

(x+2)x-3)(2x+1).
(x+2)(x-3)(2x-1).
(x=2)x+3)(2x+1).
(x=2)x-3)2x+1).
x-2)x+3)(2x-1).

EEORP

[1986-CE-MATHS 2-34]

Which one of the following is a factor of
X -4+ x+ 67

A (x+1D(x-=2)
B. (x+1)(x+2)
C. (x-Dx+2)
D. (x-Dx-3)
E. (x-Dx+3)

[1991-CE-MATHS 2-3]

If a polynomial f(x) is divisible by x -1,
then flx-1) is divisible by

A x-2.
B. x+2.
C. x-1.
D. x+1.
E. «x.

[1992-CE-MATHS 2-41]

If fix) = x°+ 99x + k is divisible by x+1,
then k=

A. -100.
B. -98.
C. 98.
D. 100.
E. 198.

[1995-CE-MATHS 2-3]

If 2+ x + m is divisible by x -2, then it
is also divisible by

A. x+3.
B. 2x-3.
C. 2x+3.
D. 2x-5.
E. 2x+5.

[1997-CE-MATHS 2-6]

Let fix) = 2x° — x> — 7x + 6. It is known
that f-2) = 0 and f{1) = 0. f{x) can be
factorized as

(x+ Dx+2)2x-3).
G+ D(x-2)(2x+3).
(=D +2)(2x+3).
(- 1)(x +2)(2x - 3).
(= 1)(x—2)2x +3).
[1998-CE-MATHS 2-6]

=Eaw»
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22.

23.

24.

25.

26.

Remainder & Factor Theorems

Let flx) = x> - 2x> - 5x + 6. It is known
that f(1) = 0. f(x) can be factorized as
A, (x-172(x+6).
x-DE+1)(x+6).
xx-Dx-2)(x+3).
x-DEx+2)x-3).
(x+ Dx-2)(x-3).
[2000-CE-MATHS 2-9]

Mo AR

Let fix) = x> + 2x*> + ax + b.
divisible by x+ 1 and x -2,
factorized as

If fix) is
f(x) can be

A x-Dx+DHx-2).
B. (x+1P(x-2).
C. (x-3)x+DHEx-2).
D. (x+3)x+1DE-2).
E. x(x+1Dx-2).
[2001-CE-MATHS 2-48]

If flx) = x = 7x + 6 is divisible by
X’ —3x +k, then k=

A 2

B. 2

Cc. 3

D. 3

[2004-CE-MATHS 2-40]

Let f(x) be a polynomial. If f(x) is divisible
by x -1, which of the following must be a
factor of f(2x+ 1)?

A x

B. x-3
C. 2x-1
D. 2x+1

[2007-CE-MATHS 2-40]

Let k be a constant. If x* + 5x> + 3kx — k is
divisible by x—1, find the value of £.

A. 3
B. -1
C. 0
D.

[2010-CE-MATHS 2-41]

Miscellaneous

217.

28.

Let fix) = 3x° — 4x + k. If flx) is divisible
by x -k, find the remainder when f(x) is
divided by x+k.

A 2k

B. k

C. 0

D. —k

E. k-1

[1990-CE-MATHS 2-34]

The expression x> — 2x + k is divisible by
(x+1).  Find the remainder when it is divided
by (x+3).

A1
B. 4
C. 12
D. 16
E. 18

[1993-CE-MATHS 2-9]

29. 1t is given that F(x) = x* — 42> + ax + b. F(x)

30.

31.

is divisible by x—1. When it is divided by
x+ 1, the remainder is 12. Find a and b.

A. a=5, b=10
B. a=1, b=2

C. a=-3, b=6

D. a=-4, b=1

E. a=-7, b=10

[1999-CE-MATHS 2-38]

Let fix) = x> + 2> + k, where k is a
constant. If f{-1) = 0, find the remainder

when f(x) is divided by x—1.

A, -1
B. 0
C. 2
D. 6

[2003-CE-MATHS 2-2]

Let fix) = 2x> + ax — 3, where a is a
constant. If f{x) is divisible by 2x+ 1, find
the remainder when f(x) is divided by x-a.

A. 52
B. 22
C. 46
D. 72

[2011-CE-MATHS 2-40]
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Remainder & Factor Theorems

HKDSE Problems

32. Let fix) = x>+ 2x* = 7x + 3. When flx) is
divided by x+ 2, the remainder is

A, 3.
B. 5.
C. 17.
D. 33.

[SP-DSE-MATHS 2-5]

33, Let fix) = x*—x*+ x> —x + 1. When flx) is
divided by x + 2, the remainder is

A, 2.
B. 0.
C. 11.
D. 31.

[PP-DSE-MATHS 2-5]

34. If k is a constant such that x* + 4x* + kx — 12
is divisible by x+3, then k=

A, -25.
B. -1.
C. 1.
D. 17.

[2012-DSE-MATHS 2-4]

35. Let fix) = x'* — 2x + k, where k is a constant.
If fix) is divisible by x + 1, find the
remainder when f(x) is divided by x-1.

38.

35

40.

Let g{x) = x¥ + ax” + b, where a and b are
constants. If g{x) is divisible by x — 1, find the
remainder when g(x) is divided by x + 1.

A 0
B. 2za
. —2a
D. —-2a+2
[2018-DSE-MATHS 2-8]
Let & be a constant such that 2x* + kx® —4x —
16 15 devisible by 2x + & Find &
A -2
B. 2
. 4
D. 8

[2019-DSE-MATHS 2-6]

Let glx)=ax® +4ax” —24. where a 13 a_
constant. If x + 2 is a factor of g(x). then g(2) =

A, —96
B. 0

. 2

D. 43

{2020-DSE-MATHS 2-6]
A. 0
B. -1
C. 2
D. -2
[2013-DSE-MATHS 2-9]
36. Let fix) = 4 + kx + 3, where k is a
constant. If f(x) is divisible by 2x + 1, find
the remainder when f(x) is divided by x+ 1.
A, -7
B. -6
C. 0
D. 5
[2016-DSE-MATHS 2-6]
37. Let p(x) = 2% — llx + ¢, where ¢ is a
constant. If p(x) is divisible by x -7, find
the remainder when p(x) is divided by 2x+ 1.
A. -26
B. -I5
C. 15
D. 26
[2017-DSE-MATHS 2-7]
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HC.F. & L.CM.

H.C.F. & L.C.M.

1. 8abc® is the H.C.F. of 24ab’*c® and

12a%bc* .
30a%hc’ .
32a°hc’ .
40ab’c? .
48a°bc” .

SRR

[1978-CE-MATHS 2-11]

2. The H.CF. and L.CM. of three expressions
are a’b’c and a‘b’c* respectively. Two of the
expressions are a’b’c* and @’b’c’. The third
expression is

A. abe.
B. &'b*.
C. a'c.
D. a'p’c.
E. a'°c’.

[1981-CE-MATHS 2-33]

3. The L.C.M. of 124°bh and 18ab’c is

A. 6ab.

B. 6a’bc.
C. 36ab.

D. 36a°bc.
E. 2l6a’bc.

[1986-CE-MATHS 2-31]

4. 8abc® is the H.C.F. of 24ab’c® and

A.  12&%bc* .
B. 304°bc’.
C. 324°bc°.
D. 40ab’c’ .
E. 484%bc’ .

[1988-CE-MATHS 2-40]

5. The H.CF. and L.CM. of three expressions

are xyz> and x°)°z* respectively. If two of

the expressions are x*y°z and x’yz*, find the
third expression.

A. B2

B. 37

X’z

xp°zt

o0

xy’zt
[1990-CE-MATHS 2-37]

6. The LC.M. of x, 2x% 3x°, 4x* 5x° is

A. x.

B. 5x°.

C. 60x°.
D. 120x°.
E. 120x".

[1991-CE-MATHS 2-6]

7. The LCM. of P and Q is 12ab’c*. The
LCM. of X, Y and Z is 30a’b’c. What is
the LCM. of P, O, X, Y and Z?

360a°b°c?

60a’b>c?

60ab’c?

6a’b’c

6ab’c

SRl e

[1992-CE-MATHS 2-40]

8. Find the H.C.F. and L.CM. of ab’c and abc’.
H.CF. L.CM.

A. a a’b’ct
B. abc ab’c?
C. abc a’b’ct
D. ab’c abc

E. &bt abc

[1993-CE-MATHS 2-11]

9. Find the L.CM. of 4x’yz and 6xy°.

2xy
12x%°
12x%*z
24x%%z
24x’y%z

SRl e

[1996-CE-MATHS 2-3]

e LCM. of 210x” and 30x%z is

30xy .
T0xyz .
210x%%z .
630x°y’z .

10.

SoFr o

[2003-CE-MATHS 2-38]

H.C.F. & L.C.M. with Factorisation

11. The HCF. of @ -1 and a* -1 is

=EORE>
AR R R —
|

[1983-CE-MATHS 2-5]
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12.

13.

14.

15.

(x-DE+1D)E2+1D)E*+x+1).

[2016-DSE-MATHS 2-31]

GLON YR UNIT 4.5 H.C.F. & L.CM.
The LCM. of 2a*-2b* and @ —2d°h+ ab’ HKDSE Problems
is
A a-b 18. The H.CF. and the L.CM. of three
B. a(a —'b)(a + b) expressions are ab® and 4a*h’c® respectively.
’ : If the first expression and the second
C. 2a(@-b)a+b). expression are 2a’h*c and 4a*b%c® respectively,
D. 2a(a-b)(a+b). then the third expression is
3
E. 2a(a-b)’(a+ b). A ab?.
[1985-CE-MATHS 2-6] B. ab’.
C. 2ab’c.
5
Find the HCF. of (2x-1)02-6x+9) and D. 2abc.
(* - 3x)(4x*-1). [2012-DSE-MATHS 2-31]
A (x-3) 2 2 3
B. (2x-1) 19. The LCM. of a°+4a+4, a4 and a +8
C. (x-3)(2x-1) 8
D. x(x-3)y’Q2x-1(2x+1) A. a+2.
E. there is no H.C.F. B. (a-2)(a+ 2)3(02 -2a+4).
[1987-CE-MATHS 2-40] C. (@-2)a+2(a’+2a+4).
D. (a-2)a+2)*d*-2a+4).
[2013-DSE-MATHS 2-31]
The LCM. of (x-1)*, ¥ =1 and x* -1 is
A x-1. 20. The HCF. of 3x%%z, 4n'z and 6% is
B. (x-D*x+DE*+x+1). A 0P,
C. -1+ DE*+x+1). B. x’z.
D. (x-1)Px+DE*-x+1). C. 12x%z.
E. (x-Dx+DE2+x+1). D. 12x)°72.
[1994-CE-MATHS 2-3] [2014-DSE-MATHS 2-31)
The LCM. of 23— x and x* — 1 is 21. The LCM. of 9a%h, 124a*h* and 154° is
A 3d.
Aoox -l B. 3d%.
B. -Da*1). C. 180a%".
C. x(x-Dx+DE"+1). D. 180425 .
D
E

16.

17.

x(x—1)>x+ 163+ 1).
[1995-CE-MATHS 2-6]

The LCM. of 2—b, 4 -0 and 8 - b is

A. (2-Db)(2+b)4—-4b+b).

B. (2-b)2+b)4+4b+ D).

C. 2-b)(Q2+b)4-2b+bY.

D. 2-b)Q2+b)4+2b+bY.
[2004-CE-MATHS 2-38]

The HC.F. of x*(x+ 1)(x+2) and x(x+ 1)}

A, x(x+1).
B. x(x+1x+2).
C. X(x+1)°.
D. X(x+1)P3x+2).
[2005-CE-MATHS 2-38]
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Algebraic Fractions

Algebraic Fractions

A 2
ox-1
2
B. o
-2
C. o1
-2
D. i1
4
E. 2-1
[1977-CE-MATHS 2-1]
atb a-b
a-b a+b
A. 4dab.
2ab
B. Z_p
4ab
C. a’) . b2
20
D- a2 2
2@+ b
[1979-CE-MATHS 2-24]
-2 -2
X‘-y
x T -yl -
A xT+yth
B. x!'-y?t.
C. x3-y?
1
D. .
X =y
1
E. x+y

[1980-CE-MATHS 2-5]

1
1 N 1 +x+x_
x+1 x-1 1
YTy
1
A. x+1
1
B. —7.
x+ 1
cC —5.
1
D. Cihe-1-
X+ 4x+ 1
E Gr)e-1-

[1981-CE-MATHS 2-2]

X, X4
Y. X _
x Y
y  x
A ’L:..Z.
x+ty
+
B. —~.
x-y
xty
C. -- .
X -y
2 42
X Ty
Du xz_yz-
X -y
E. 577

[1981-CE-MATHS 2-5)

2a 1

“Z-ar " -a’

A.

=

© 0

=

. (a"2

A.

6

1
a+2b’
2a — 1
(a+2b)(a-2b)"
2a + 1
(a+2b)(a-2b)"
3a + 2b
(a+2b)(a-2b)"
a+2b
(a+2b)(a—-2b)"

[1982-CE-MATHS 2-1]

-3pY)! =
3¢+ b
~a*b
38 - b
a’b
3b -
a’b
a*b
b - 3a*"
3a%b
3b - a*’

[1982-CE-MATHS 2-3]

5

A.

=

0

e

g

Tx2-9 X2+ x-6

1
(x-2)x-3)°
1

x+2)(x+3)°
1

(x+2)x-3)°
1
(x-2)x+3)°

x —27
x=-2)x+3)(x-3)°

[1983-CE-MATHS 2-1]

Past Paper Review (Multiple Choice)
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Algebraic Fractions

11
PO
9. .1_+l =
a b
1.1
A S+
Lol 11
" at ab b
1 1 1
C. 2 " ab B
D. & -ab+b.
E. & +ab+ b .
10 4 3 -
T =2+ T x2-1
N
T -12x 1)
B x + 2
=)+ Dx=-1)"
C x + 10
=2t Dx-1)"
D. - 10 .
x=-2)x+Dx-1)
E ¥ —3x-10
Co(x=2)(x+ D -1)
T 2 1 4x
l4+x 1-x x2-1
A 1
ol —-x
1
B. P
c. =&
x- -1
1 - 7x
D. 1 -2
-
1 - x*
b _a
a b -
12. T =
a b
A. a+bh.
B. a-b.
C. —-a+b.
D. -a-5b.
1 1
E. a+b'

[1983-CE-MATHS 2-2]

[1984-CE-MATHS 2-1]

[1985-CE-MATHS 2-1]

[1985-CE-MATHS 2-2)

13.

14.

15.

16.

1 1
g L L
. xzy xyz.
1 1
C. xyz—xzy.
1 1
D. ;—F.
S
2y xR
‘_2
3=
: -
S0 - 3)
A 1x-3
2()6— y)
2
B. 5(x-3y)
C. 2(x+3y)
1
D. S(x+3y)
E 2(x+3)
2
WE -
y X
gx+222
A. Xy
2 + 17
Xy
x+y+2
cC. ———.
Xy
p. L
Xy
E. 1

9!
O H|h M R B RN

[1985-CE-MATHS 2-4]

[1986-CE-MATHS 2-2]

[1986-CE-MATHS 2-30]

[1987-CE-MATHS 2-1]

Past Paper Review (Multiple Choice)
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Algebraic Fractions

X -2 -2 -15

17.

B-25x " R2+x-6
1
A 3.
x —2
B. G+2)k-5)
1
C. —=-
p. 1.
X
x -3
E G 3)x-5
[1988-CE-MATHS 2-3]
1 1
18. 2x — x2 * 2+x—-6
3
A 2-Dx+3)
- =3
x(x+2)(x-3)"
C 6 —x
a2 -x)(x+2)(x-3)"
D x -6
T x2-x)(x+2)(x-3)"
. 2x + 3
ox(2-x)(x+3)°
[1988-CE-MATHS 2-6]
27x° - 8
19. 55 =
A. (3x-2)7°.
B. 9% -4.
C. 9%+4.
D. 9% —6x+4.
E. 9%+ 6x+4.
[1989-CE-MATHS 2-2]
-2+ 1-x"
20. a0 =
A A+x)"+1
S U
2 —x — x?
B. -7
c A+x)"+1
- (1 _x)z .
D a-x)"+1
o (Q+xn
2~ — "
A
[1989-CE-MATHS 2-41]
1 - x-y
21 Xty
. 1 x+ -
_ ._Xt—y

22.

23.

24,

A ==
x+ty

B. i
x+y

c. =
y

D. x+y.

E. x-y.

1

1

1-x2 " (Q+x2

A T+
2x2
B. 1-0+»)
2x2
C T+
2
D. T ya+x2
2%
E. G-na+x2
1. 1
x3+y3
1 1
1.1
X y
11
A. J-c_2+y2'
111
B. x2+xy+y2.
1 2 1
¢ Bty
12 1
e L 1,1
- xz'—xy yz.
11
a b
A a+b
* ab
ab
B. a+b
1
c. .
2
D.
1
E. —

2

[1990-CE-MATHS 2-2]

[1991-CE-MATHS 2-2]

[1991-CE-MATHS 2-5]

[1992-CE-MATHS 2-1]

Past Paper Review (Multiple Choice)
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25.

26.

27.

28.

Algebraic Fractions

2 1
x_y
4 x
x "y
A. 2y —x.
B. 2y+x.
1
C. =
D 1
g
1
E 5 >
[1994-CE-MATHS 2-36]
X
(;-ba-))
Simplify X v .
y  x
Al xX-y
xty
B =
x+ty
C. xty
xX-=y
D. xty
x-y
E. -1
[1995-CE-MATHS 2-37]
. X 1 3x -1
Simplify “—7+ 77+t 7_2-
A 1
1l —x
1
B. T+~
1
C. “T+»
3x + 1
D. 1 -2
1 - 5x
E. -2
[1996-CE-MATHS 2-36]
N 4 3
Simplify P-4 2_x_2°
A 1
T Dx+2)
1
B GvDe-2)
1
C G-ne-2
D x + 10
T DE-2)(x+2)
E x — 10

x-DEx-2)(x+2)
[1997-CE-MATHS 2-28]

29.

30.

31.

32.

2 3
-1 x2-x-2
) S
A GoDE-2)
) S
B GiDx-2)
= .
C Grhx+2)
-1
D. D+ De-2)
—x —7
E G-Da+Der-2)°
2 x-1 B
xX2-1 x2-2%-3
x2+2x+5
A G DE+ DE+3)
-2+ 2x+ 7
B. oG+ DE+3)
—x? -5
C ERa-Da+1)
x2 -5
D. - Dr+1)
E —x2 + 4x — 7

(x=3)x-DE+1)°

[1998-CE-MATHS 2-39]

[1999-CE-MATHS 2-40]

r, b
Simplify ~—7 + 774
A a+b
a-b>b
a-b
B. 2t b
—a? + b* + 4ab
c a — b?
a? + b?
E. 1
1 —x Lx—l _
x2+4x -5 x+1
A X’ +3x -6
okt DS
B X+ 5x -4
C G DEr)
C x+Hx-1)
TG DE+S)”
p, &=D&-4)
Tt DE-5)
E x-Dx-6)
Tt D=5

[2000-CE-MATHS 2-37]

[2001-CE-MATHS 2-47]

Past Paper Review (Multiple Choice)
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Algebraic Fractions

33, 1-% -
L1
X
x—-3
A T
2~ 3
B. 5.
2 4
c. 41
x -1
2
x-+ 1
D. - T
[2002-CE-MATHS 2-37]
10 2
34. P+x-6 x-2
2
A T
)
B. — s
13 — 2x
C &r-2)-
: 16 — 2x
D. C+3)x-2)
[2003-CE-MATHS 2-37]
3 2
Xy o
3. oy
Yy x
1
A
1
B. 2x + 3y
-1
C. 5723
-1
D. > +3
[2004-CE-MATHS 2-37]
1 1
36. x+1 x-1_
A 2
. 1_x2'
2
B. 5
2
C: o
2x
D, 5

[2006-CE-MATHS 2-3]

37.

38.

39.

40.

n+3 3-n
A 6
9 - n?
B 6
. T_o
C 2n
Y9 —nf
D 2n
* nr-9
=k 1
1-k k-1
A. 1.
k+1
B. -
k+1
c. T3
K+ 1
D. 2 -1
I 2
a-2 l-a
A -3
" (a-1)(a-2)°
a-3
B. @-D@-2)°
3a-1
C @-)@-2°
3a—5
D @-1@-2
1 N 1
2x -3 2x+3
A 6
© -3
4x
B. 2x% -3
6
C. 4x2 -9
D 4x
* 4x2 -9

[2007-CE-MATHS 2-2]

[2008-CE-MATHS 2-3]

[2009-CE-MATHS 2-3]

[2010-CE-MATHS 2-3]
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HKDSE Problems

41.

42.

43.

44.

Algebraic Fractions

1 L X 1
2-x  (x-2)2
3
A G
1
B. G
-2x+ 3
C Gy
2% - 3
D. 5
[SP-DSE-MATHS 2-31]
1 L
X-2x+1 2+x-2
A 1
T -Dx+2)”
1
B. G-y
3
C G-
' 2x + 1
D. o1+
. [2015-DSE-MATHS 2-31]
1 1

3x+7  3x—7

14
A ——
49—-9x
14
B. 9x2-49
6x
C. ——
49-9x
6x
D. 5
gx<—49
[2018-DSE-MATHS 2-4]
5 2

4k+3 4k-3

12k-21
A

16k2-9

12k+9
B. ——

16k2-9

14k—21
C.

16k2-9

14k+9
D. B

16k%-9

[2020-DSE-MATHS 2-3]

Past Paper Review (Multiple Choice)
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